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QUESTION 1

What is the default timeout period for a TCP session in the session table of a Junos security device? 

A. 1 minute 

B. 60 minutes 

C. 15 minutes 

D. 30 minutes 

Correct Answer: D 

 

 

QUESTION 2

What is the maximum number of supported interfaces on a vSRX hosted in a VMware environment? 

A. 4 

B. 10 

C. 3 

D. 12 

Correct Answer: B 

 

 

QUESTION 3

What are two valid JIMS event log sources? (Choose two.) 

A. Microsoft Windows Server 2012 audit logs 

B. Microsoft Active Directory server event logs 

C. Microsoft Exchange Server event logs 

D. Microsoft Active Directory audit logs 

Correct Answer: BC 

 

 

QUESTION 4
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Which three statements are correct about fabric interfaces on the SRX5800? (Choose three.) 

A. Fabric interfaces must be user-assigned interfaces. 

B. Fabric interfaces must have a user-assigned IP address. 

C. Fabric interfaces must be same interface type. 

D. Fabric interfaces must be on the same Layer 2 segment. 

E. Fabric interfaces must be system-assigned interfaces. 

Correct Answer: CDE 

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-chassis-clusterdata-plane-
interfaces.html 

 

QUESTION 5

Click the Exhibit button. 

Which two statements describe the output shown in the exhibit? (Choose two.) 
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A. Node 0 is passing traffic for redundancy group 1. 

B. Redundancy group 1 experienced an operational failure. 

C. Redundancy group 1 was administratively failed over. 

D. Node 1 is passing traffic for redundancy group1. 

Correct Answer: CD 
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